M3H Unit 5 Day 5 - Solving Logarithmic Equations

To solve a logarithmic equation:
1) Get all logs on one side of the equation
2) Use properties to condense into a single log

3) Isolate the log

4) Exponentiate y--!
5) Solve for x 1o
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Think about the graph of y = log x... P e G R W it '5_—1;»){@
Can you take the log of a negative number? ' _i_ ENEENENEEE
What about x = -2 for log x ? log(-2x) ? : st
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Easy examples: (Isolate/Exponentiate/solve for x)
1. logéx-3=-4 2. 3log (x2 +1)=5 3.2ln(3x-1)+4=7 Qla(3¥-7) = 3
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Medium examples: (Steps 2 - 5) s 1 @ ¢ 7 9 i / E ffﬂ "4
1. log2x-log3x=7 2. Slog(x+1)+log4=-2 ‘ | W 7= {.53
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More Complicated examples: (Steps 1 -5)
1. log (4x-5)=log(2x-1)+4 2. logs 6 +logs2x? = logs48
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